Mﬁ[}i{&ti;l} to mankind. Einstein Fityy

anergy lias thousand of uses. The problem was oy, ¢
y e . energy and it was made possible In s I.Lahn o 51].'!'! &
ﬂf:;mg (dl,q_;fi'rj nuclear chain ru.-n:tlcirn, Mthnugh e

;h . ; m pelfetl machines and one per cent t:'.rt total energy is - reduced w.
Hh this amount is enormous(3¥). One pound of uranjyg, T
B eauivalent (<l2) to three million pounds of goal. Better reactors will gy 8
-.I.'-EL." *'Uﬂﬂtl :lessve:: cost and longer duraton in future, The uses of atomic H

T gs (L f’ ) It can bring peace and prosperity (Jv) to the wq b

il

fw lﬂlt simultaneously( < =3 (¥ ,_{l) it can destroy this earth if asedl i

T

are mani
S destractive purposes. It depends upon man to avail(t#156) it positively and

=

ased wWis
:'-I-:F'_--'_‘ 1|-|.
o L Al

_-.M**-Emgvy’uﬁ:‘%f&@i:fbaf+d£fufatbfmicwfac. .

i 5 ‘F"L..'u— & e e T = - i dj | ¥ i ..""'l::’l.. - al r.-ihlﬁ‘ 1 .-.-.l'r.. B

- &)
. T



hﬂ—iﬁ ILEDM] (":‘{ ff"{'“ﬁr'r.;

; - il W 44 l
'-i'l_ﬁ&.fa”v' g fiqhm orwe

13 r. LiFu
= ' 5 LLLes « Tlal kile A
(i lxﬁu‘, JMLﬁM‘ﬁﬂ‘-QﬁA H-a..:‘ P-rc_‘:|_ i [-

ﬂ.i.-"._t':.; C_;'L ]’Qﬂﬁﬁhm}vﬂ \W ”.1_1' e -r {:_t'r*ll y- )

Lom -
Hing _osnes ‘F‘x(ﬁw“ L
0e ; ”T
/“’XC““ jﬁw&’ixﬂ (A rnb&@rilbﬁﬂ" i-':-’p J—": L:'F: :jjrlr
:‘CE Q_{_,.-'L.E_pr?.—‘:j {-{Ef'j' ’?ﬁh; r‘fﬁE’H.]. 1 F-" Ll 0B p, b

) L_}-‘E:u. e

fﬂli‘ﬂ'hpu CAER P (o 1. i
i'.{’[ {Z&HW (ARG C HJE'EQLILLDFLF '”. |u¢' J

e {:ﬁ_frj f#tﬁ“f :'.L-z,c‘;.a ?ﬁ“Cﬁ[ﬂCd

main idea is picked ,and discussed

14 word count is missing and precis exceeds word limit
basic grammar and sentence structure is fine
need improvement 8/20



main idea is picked and discussed
word count is missing and precis exceeds word limit 
basic grammar and sentence structure is fine 
need improvement 8/20




